Chapter 8 Review Questions


Questions: 


1.
Marginal revenue product measures the: 

A)
amount by which the extra production of one more worker increases a firm's total revenue. 

B)
decline in product price that a firm must accept to sell the extra output of one more worker. 

C)
increase in total resource cost resulting from the hire of one extra unit of a resource. 

D)
increase in total revenue resulting from the production of one more unit of a product. 

2.
The MRP curve for labor: 

A)
intersects the firm's labor demand curve from above. 

B)
is the firm's labor demand curve. 

C)
lies below the firm's labor demand curve. 

D)
lies above the firm's labor demand curve. 

3.
Marginal physical product is: 

A)
the output of the least skilled worker. 

B)
a worker's output multiplied by the price at which each unit can be sold. 

C)
the amount an additional worker adds to the firm's total output. 

D)
the amount any given worker contributes to the firm's total revenue. 

4.
Assume labor is the only variable input and that an additional input of labor increases total output from 72 to 78 units. If the product sells for $6 per unit in a purely competitive market, the MRP of this additional worker is: 

A)
$6.    


B)
$12.    


C)
$36.    


D)
$72. 

5.
A firm will find it profitable to hire workers up to the point at which their: 

A)
marginal resource cost equals their wage rate. 
 

B)
wage rate equals product price.


C)
MP is equal to their MRP.

 
D)
marginal resource cost is equal to their MRP. 
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6.
Refer to the above data. How many units of output are produced when 2 workers are employed? 

A)
4    


B)
16    


C)
24    


D)
10 

7.
Refer to the above data. What is the marginal product of the sixth worker? 

A)
2 units    


B)
3 units    


C)
4 units    


D)
5 units 

8.
Refer to the above data. At what price does each shoe shine sell? 

A)
$1    


B)
$2    


C)
$3    


D)
$2.50 

9.
Refer to the above data. If the wage rate is $11, how many workers will Manfred hire to maximize profits? 

A)
1    


B)
2    


C)
3    


D)
5 

10.
Refer to the above data. If Manfred's only fixed input is capital, the total cost of which is $30, then what will be his economic profit? 

A)
$62    


B)
$42    


C)
$28    


D)
$32 

11.
If the wage rate increases: 

A)
a purely competitive producer will hire less labor, but an imperfectly competitive producer will not. 

B)
an imperfectly competitive producer will hire less labor, but a purely competitive producer will not. 

C)
a purely competitive and an imperfectly competitive producer will both hire less labor. 

D)
an imperfectly competitive producer may find it profitable to hire either more or less labor. 
Answers:

1. A

2. B

3. C

4. C

5. D

6. C

7. B

8. C

9. D

10. D

11. C
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